A4 910l = A A(2),B(6)& °l= A7 ABE3: 12 U

T

P} SJRHE A Q Afole] A2lg Fotela,

> E:

rr

P(p), O(q) 2t st
_3:6+1-2 20

3+1 4
_3:6-1.2_16_
=731 T2~

. PQ=8-5=3




o= 293 2ol |l A A3, 1), B(4, 3),

~&B

Y B(4.3)
C(a, b), 0(0, 0)& ZAHO 2 5} PPA} Cab
¥d OABCIA a + b gH& Fsteler. a
AG.1)
O T
B3RS OABCOA & gz o] AL xlstna

<2§)_(a+3b+1
’2 - 2 ’_2

a+3

=294 a=1

b+1 3
- - = = P2 :2
5 2ﬂ1b

a+b=3

)




iy
(e
=

12cm

~&B

AABC7} A Z44Zbgo|B g HIHH O £ M
AABC 9] 9]A] o]t}

o2t MA = MC = MB = 18

P, G FASA B2

rlo

- 2
BG = gBM = 12(cm)




A7+ ABC 0] FAFA ] 2EI G(2, ~1) 3 A ¥ AB, BC, CA
£2 :1 2 YEst= Hol 27 P(a,3), Q(-2,-2), R(5,b) & o,
a+ b o 3& Fotoet,

> =
> 3

L
|
—

A7 ABC 9] BAEA 1 42 PQR 9] FAFSAS L5t

=2°Aa=3

El%ﬁz_qub:_4

a+b=-1




>

s ™A Zol A A

S

-4
WAAHO 2 5H= AABC7} 9Tt /A
o] ¥ BC ¢} = M-S

., —=7), C(5, 2) & A(1,5)

C(5,2)

OF 1) o3 w

/
Dty & o, A DO FrE? %/ﬁ

—

E (1+4) +(B+72=13

AC= /6-12+(2-5)2=

AB : AC=BD : DC=13 : 5
-204+65 —35+ 26 5 1
( 13+5° 1345 ): (5’ _2>

ﬁﬁ




